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I~ Expansion phasc all but onc of he | framr T ad afsw R

following characteristics : fadanait & 7 o -
(A) Increasc in national output

(A) ST A ¥ gy

(B) ' Increase in consumer spending

(C) Excess production capacity of ®) I w3 W
industries (©) Fart # affE T aw
(D) Expansion of bank credit - D) ¥ 7O &
2. refers to the top or the highest 2. ......... I % B it T Iy
point of business cycle. ﬁﬁ B g Har .4
(A) Expansion (A) frEm
(B) Peak ®) W&
(C) Expansion and peak (O R v ad
(D) None of the above ©) INF A ¥ B/ &
3. Involuntary unemployment is almost 3. SR &6 3........ T % e
zero in the .......... phase of business AP T @«
cycle. @A) A
(A) Expansion _
(B) Contraction ® &gH
(C) Trough ©
(D) Depression (D) WX
4. Theeconomyissaid tobe overheatedat 4. IUTTNM VAN TF D ... O
the ........... phase of business cycle. ? afv® T S A 4
(A) Expansion (&) REr
(B) Peak - ®) A
(C) Contraction (C) g
(D) Depression D) AT
15204(N) (R) (3)
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swhen business 5. S mqry g L. g a a8

5. Costof living incrense

eycle is couvninene N AP T ardh 2
(A) Expanding (A) Rmr
(B) Contracting (B) W
(D) Atlowest point ' D) P hﬁ w
6. There is large scale of invc:;litinta;ry: 6. w3 o &
unemployment in the ............ phase of }m %2 Y w i
business cycle.
(A) e
(A) Expansion
B) Rmex
(B) Peak
C ﬂw
(C) Contraction ©
(D) None of the above @) 3 AR q';};‘ T
A is the severe form of recession 7. ceeveer e TR # freew wR
with lowest level of economig activity. 3 ag 7 =W IR ¥
(A) Upswing (A) oTeRET
(B) Depression (B) 9GHR
(C) Downswing _(C) T ARaT
(D) Peak (D) a"[‘é’[
15204(N) (R) (o)
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8.  Fall in the interest rates is a typica] g

Tt o & e N wftaa &

feature of : @ F
(A) Recovery
(@) T
(B) Boom
: (C) W
(C) Depression
(D) Contraction ©) WH
9.  Whichofthe followingisnotthefeatwre 9. F=fefad ¥ ¥ Iw-w IR =5 B
of business cycle ? fadean = 32
(A) Business cycle follow perfectly ‘.,(A) IR % 70 7@ § T W
timed cycle aw ¥ -
(B) TEORE 9% X R
(B) Business cycle vary inintensity X
(C) Business cycle varyin length (C) FAS 9% TR 7 B A
3
(D) Business cycle have not set O) v T W D e -
pattern SN
10. Where boom ends, ........... starts. 10. & I TG BN §, FWl....... &
(A) Recovery B B
A Rl
(B) Recession
B) T
(C) Progress
(C) Wi
(D) Depression D) IR

15204(N) (R) (5)
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i rooL
11. The trough of a business cycle occu

12. Industries that are most adversely 12,
affected by business cycle ar¢ the........
(A) Durable goods and services
sector
(B) Non-durable goods and services
(C) Capital goods and non-durable
o goods sectors
(D) Capital goods and durable goods
sectors
13. A variable that moves later thanaggregate 13,
economic activity is called :
(A) Aleading variable
(B) A coincident variable
(C) A lagging variable
(D) A cyclical variable
14. Coincident indicators shows: 14.
(A) The current state of business cycle
(B) The rate of change of expansion
(C) The rate of change of contraction
(D) All ofthe above
15204(N) (R) 6

when .......... hits its lowes! point.
(A) The money supply

(B) The employment leve!

(C) Inflation in the economy

(D) Aggregate economic activity

@ AR o B W @ A} oy
........ mw&iam%l

(&) ¥ # syt
B) W wX
©) rdfarger # Fprehihy

(D) T onfifes wfafafy

TqqY W & wEw o Al 8l
T JET

(A) feors 9 olx {ar &
®) R T R A

© Wmﬁmﬁ?—mw
B .

©) i@ TWE ok Res o &=

T e a9 e ©

(A) TH prf =%

(B) TF §4 &

(C) & AfiT =

D) TF Thd T

HarT ddae e ¥

(A) YR T B Jau i
@) RER % RaEd 3t
(€) UFET P W A K

(D) I &
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15. Which one of the following ig an

15. P & & IF-T If daes = @&
example of lagging indicator ? RET R ?

(A) Personal income

_ (a) R o

(B) New orders for plant anq

B) €4 AT I\ F R T FRW

equipment
(C) The consumer price index (©) ST T T
(D) Slower deliveries ©) €t Rl
" 16. High rate of investment brings : 16. fRa AT W T 3 -
(A) High level of employment (A) TR B TH TR
(B) Increase in the aggregate demand (B) T A ¥ g
(C) Increase in output (C) Y # I
(D) All of the above _ (D) IRAF |
17. Accordingto ............. atrade-cycleis 17 ........ 3 HIER W INR-TF TH
| a purely monetary phenomena. ﬁ'ﬁl@ AF =¥
(A) Keyens (A) %9
(B) Hawtrey , ® w3
(C) Schumpeter ©) TAX
(@) Nicolas Kaldor @) FeE FER
15204(N) (R) (1)
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18. “Business cycles appears 4uc © present ‘8. “‘qfiwy ¥ g R IR U NE

fluctuations in price affecting the outPU! T arelt Hrar & IAR-TBR B T

and employment in utrue.” Whose ATYF 9% RER 22 5" 42 e
v &7

statement is this ?
Nicholas

(A) ﬁﬁwm@?mmm
*(B) W @ R & ST Ry
© I Hw T A Ry

@) ST & § A 7@
19. U/ Jaury Rred s 2 anits R
B W Y Proear F o o B, o

(A) Cobweb theory bY
Kaldor

(B) Ordinal theory by Al

(C) Cobweb theory by J. M- Keyens

(D) None of the above

19. Businesses whose fortunes are closely
linked to the rate of economic growth

len & Hicks

15204(N) (R)

called :

(A) Cyclical business

(B) Capital goods business
(C) Both(A)and (B)

(D) None of the above

If the population growth rate is higher

than the economic growth rate it will

resultin :

(A) Higher income; lower savings;
lower employment

(B) Lower income; lower savings;

lower investment

Higher investment; lower income;

higher savings

Lower income; lower savings;

higher employment

(&)

D)

e T ¥
(A) =g 3|y

®) Tra T =TEE

-(©) (A) @ @®) A

O) I # § B T

20. IR SrHEn R W tE R =

(8)

q oiftrs ¥ & T TRwm B

(A) I AG; T T4 P QIR
B) FH AW; T Jqq; F9 (3w
(C) I= FRw; 39 o; Sfvs o=

(D) F9 AT; T I90; I WK
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21. Managerial Economics s :

21, meeadg ardare ¥ -
(A) T T TogsT § Proes
(B) FaA & TS e
(€) TS wgstt ¥ wafea 3
(D) All of the above . @) I o

22. “Managerial Economics studiesonly he 5, “EaHa TN A IS gealt
economic events and not the non- W AGGT B T o gt

(A) Dealing only mICcro aspects
(B) Onlyanormative science

(C) Deals with practical aspects

economic events.” & T8 1"
(A) True —A)
(B) False ‘(B) EA
(C) Doubtful C(C) BB
(D) Uncertain ) fREa
23. “Managerial Economicsisessentiallya 23 “TTad  JdeTe T AT
study of macro concepts.” Remaraeit & st 3
(A) True ~(A) |q
(B) False (B) HE™
(C) Doubtful (C) B
(D) Uncertain O) *FREg

24. “Managerial Economics is concerned  24. ‘Sl bW AT g
with application of economic concepts Freia 33 & swast w it Ramt
and economic analysis to the problems A anfls Ry 3 T ] gty

of formulating rational managerjal %" a8 ditqer & i }

decision.” This definition is given by : (A) RS 39 W

(A) Joel Dean ®) R FSE ZN

(B) Edwin Mansfield 2

(C) McNair (O &

(D) Haynes @) ¥
15204(N) (R) (9)
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_——

agerial
25. Which is the synonym of Manag

Economics ?

(A) DBusiness Economics
(B) Traditional Economics
(C) Monetary Economics
(D) Industrial Economics
26. “Managerial Economicsisan application

of economic theory fo business

management.”
(A) True

(B) False
(C) Doubtful

(D) Uncertain
27. Under marginal utility analysis, utility is
assumedtobea........cccns
(A) Cardinal concept
(B) Ordinal concept
(C) Indeterminate concept
(D) None of the above
28. Utility may be defined as...........

(A) The power of a commodity to

satisfy wants
(B) The usefulness of a commodity
(C) The desire for a commodity

(D) None of the above

15204(N) (R)

26. Sty
e s Rvar o

®) T 3 A S
©) Pl 3 & =
@) I * § B T

(10)

https://www.ccsustudy.com



29.

30.

31.

32.

15204(N) (R)

“Demand means always demand o ,
price. The term has no Signiﬁcancc

unless price is stated.” This definition is
givenby:

(A) Prof. Mayers

(B) Prof Benham

(C) Prof. Marshall

(D) Prof. (Mrs.) John Robinson

The law of consumer surplus js based

on:

(A)
(B)
(&)
(D)

Indifferent curve analysis
Revealed preference theory

Law of substitution

The law of diminishing marginal
utility

Marginal utility approach to demand
was given by .........

(A) J.R.Hicks

(B) Alfred Marshall

(C) Robbins

(D) Pigou

Which one of the following assumption
is not necessary for the cardinal utility
theory ?

(A) Rationality of the consumer

(B) Constant marginal utility of money
(C) Perfectly competitive market

(D) Additive aspect of utility

29.

“Hg B ol T % PRea gm W

HOT HCT B ¥ T @ aEm R
R w1 = sma: 3 oy @ an”

% a1 e sdare X R 2 ?
(A) . ATl
®) 0. ¥FEw

AC) q. A

31.

32.

(11)

@) . () S ofews

...........

oooooooooo

®) 97
Frfefea & ] S9-@ aqron st
gReferd Ryera 3 R omaves 7@ ¥7

(A) ITNFAM H T

®) W A Rax dra IR
© T e ¥ niowdt T9R

D) IR F ATHS oY
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34.

35.

36.

15204(N) (R)

33 Marshallian utility approach is ...

analysis.

(A) Comparable utility
(B) Ordinal utility

(C) Cardinal utility
(D) None of the above
Indifference curve is ... 10 the

origin.

(A) Parallel

(B) Conovex

(C) Concave

(D) Perpendicular

The consumer is in equilibrium at a point

where the budget line :

(A) isabove an indifference curve

(B) is below an indifference curve

(C) cuts an indifference curve

(D) istangent to an indifference curve
Which of the following is not a property
of the indifference curve ?
(A) Indifference curves are convex to

the origin
(B) Indifference
downwards from left to right

curves  slope

(C) No any two indifference curves
can cut each other

(D) None of the above

34

35.

36.

(12)

Yew,
L
L}

...........

IR 35 Reg g A b o

e Y

(A) & R T $ W 8

B) T I s d A2

(©) 7% e a% B W ¥

O) @& T 7 & e wien ¥

frefofem & @ a9 T 3% A

Rdrear Tt 37

(A) IR % 99 I o ¥

@) FEd @ A A ;W AR A
AR oA B Ah ¥

. (€ ¥t A Fdhw w T A
Té BT TR

@) INF F } /@
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37.

38.

39.

40.

15204(N) (R)

The indifference curve approach does

not assume :

(A) Ratinality on the

parts .y

consumecrs

(B) Ordinal measurement

of
satisfaction

©)

Consistent consumption pagterp
behaviour of consumer

(D) Cardinal measurement of utility
Which is not a property of Isoquant
(A) Downward sloping

(B) Convex

(C) Negative slope
(D) Positive slope
The Giffengoodsare ...
(A) Inferior goods

(B) Superior goods

(C) Related goods

(D) Same goods

In the Economics, desire backed by
purchasing power is known as :

(A) Unility

(B) Demand

(C) Consumption

(D) Scarcity

37

38.

40.

(13)

TN O FrB me @
L3

(A) ITRFNSRt & B 1 aekuimeay
M) T2 | T q

(C) ITHFNH | TR Ivivy o
T

(D) mmme

T SR & R Y
(A) B AT g

(B) U

(C) THIED T

(D) TBUEH A

...........
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44,

15204(N) (R)

demand forecasting is related

melmp n

-------------

to the business condinons

the economy as a wholc

(A) Macro level

(B)  Industry jevel

(C) Foom bevel

(D) None of the above

When the change in demand 1s exactly
equal to the change mmcr_niscallcd :
(A) Pertects elastc demand
B Perfect]s mclastk demand
(C)  Relative clasic demand
(D) Usatary clastic demand
“Fixed cost remains fixed in per unit.”
(A) True

(B) Falsc

(C) Unocenan
(D) Doubtful
Whach of the following is not a macro-
economic concept”
(A) Business cycie
(B) Nauonal income
(C) Govermment policy

(D) None of the sbove

(14)

.. H gEia sdaraeg § aay
w0 A} yufm smanfas it )
Afarm -3

c'.\l mm

133 m =T
(Cy o |
M I & & B )

& i ¥ oftads g A qfada @

(A) olag dreeT 5

(B) Tfmimq:q

(C) Wy AraEw w0

(D) g sz w5

“feay arm wfy gwd 3 W Ray wd
.7

_AA) W

(B) ¥E™
(C) sffeaa
(D) HROES

44, fr=fefam 3 | B9-8 o i snfds

s T8 &7

{A) HEGT 9%

(B) L™ A7

() arEh Hifa

() I0F A} gt qf
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44

46,

47.

48.

15204(N) (R)

Inteonomics . MEANT ‘2 atare ¢

Test or stabihty”
(A) Depression
(B) Fquilibrium
(C)  Maturity
(D) Growth

What is the fundamental Premise nn

which deductive method is based o, -

(A) It is based on fundamenta) logic

(B) Itis based on certain technique

(C) It is basd on fundamenty
assumptions

(D) Itis based on cause and effects

In which method, the logic proceeds

from particular to general 2

(A) Deductive

(B) Inductive

(C) Normative

(D) Cause and effective

[n a free market cconomy, the aliocation
of resources is determined by

(A) Level of profits of tirm
(B)  Consumer preference
(€) Contral planning authority

(D) Votes of Vanous consumers

47

48

{ 13

(Cy freer
e

mmmtm'ﬁhmﬁ
A srmfre % 2

(T

(A 75 Mo = o ot}
(B) ¥ TR T Faia }
(©) =& A T 77 s b

(D) @ & AT 1w 7 iy }
R i 3 = Wy ¥ oamm
R wmm o

(A) Py

(B) wrTE=

(€) ===y

O w3 e

TH THT AAT Feraeq ¥ HEmt
R Pty e A ¥

() ®H P g F E A

(B) Iyt aimen zro

() B A ST I
i, hﬁﬁmm%n\zm
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49. Basically production functionisrelated 39, ey ¥ grT GO W W B .

" (A) Iufy & et }
(A) Factors of production
®) IO # Mo 5 F

(B) Physical quantity of output
©) IuRa 7g & A7 }

(C) Prices of product produced

(D) Alloftheabove _D) I o
50. Short-run production function isrelated 50 AR I B Rk
to:
(A) Law of variable proportions @ W g 5 w3
- (B) Retumnofscale ® Y 3 st 2
(C) Both (A)and (B) —O) (A) @ @®) F A
(D) None of the above D) I & | B T
51. Long-runproduction functionisrelated 59 et o v 71 F=Y 2
© _ (&) o o 3 w2
(A) Law of variable proportions
(B) Returns to scale ® T 3 g
(C) Law of decreasing returns (C) i B fram q
(D) None of'the above (D) IO & ] fF T

52. Cobb-Douglas prodution function is 52, PIA-TTHY & I T AR

based on:
ased on % brt % w5 s
(A) Increasing retruns to scale
(B) Decreasing retumns to scale ®) ¥ $ Ted Shed |
© ¥ 3P R aRww w®

(C) Constant returns to scale

(D) All ofthe above D) ST &
15204(N) (R) 6
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53.

The quantity of output on an isoqy,

_ 53, GHEE % G IEEA W OURAONeTs
femains : =
(A) Decreasing (A) Tea e B
(B) Increasing B) FEar war B
(C) Fixed ©) fox war ¥
(D) All of the above _ ©) I adh
34. The tool of measuring slope of an 54  eeerr o ) T B AT B T
iIsoquant is : .
A arginal rate of substitutio
EB)) ﬁarzinal l-'alc of Ic:hnical (A) SR & Y
substitution B) TEAD AT B W T
(C) Elasticity of factor substitution (C) HH %t ufawmge |
(D) None of the above (D) Iq¥a A | a8
55. The slope of isoquant is always : 55, TR 9% F o wha & o ¥
(A) Positive
(B) Negative (A) T
(C) Nome times positive and some AB) FNE
time negative ><(’C) 4 IS o NS
(D) None of the above D) IEd F A gﬁg T8
56. “As the proportion of one factor in a 56. ‘IS B U @ wam & UF qET
combination of factors is increased, ST -t TEH A %' -t
after a point, first the marginal and then % ﬁ'ﬁ B AR, IF GO TGN
the average production of that factor T ofEa INRA e 9 B O
will diminish.” This statement is given Fa B o -
by: (A) St ARER ETa
(A) JoanRobinson
(B) F.Benham ®) T 3T 2
(C) Prof. Samuelson © A ﬁ'ﬂﬂlﬂ ad
(D) K.E.Boulding @) . §. FET 7|
15204(N) (R) (17)
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57. In lhe short-term

58.

59.

15204(N) (R)

in the phase of
wmmmmw;nﬂpmduﬂivily
of variable factor is:

(A) Positive

(B) Negative

(C) Zero

(D) Allofthe above

Which of the following Jaw is not bascd

on law of diminishing Fe(ums ?

(A) Malthusian theory of population
(B) Recardian theory of rent

(C) Marginal productivity theory

(D) Diminishing returns of scale

Lo the law of variable proportions, at the
point of inflexion :

(A) AP ismaximum

(B) MPismaximum

(C) TPis maximum

(D) All the above are at their maximum
When average productivity falls then it
is:

(A) Equal to marginal productivity
(B) More than marginal productivity
(C) Less than marginal productivity
(D) None of the above

38.

59.

60.

(18)

© ®mr S Rver

@) T w gear SRR
Rt o & Praw & % 3
ﬁ"SQ'{':

(A) AP fuEm #am B

®) Mmp fuEH e ¥

(€) TP Witmaw & ¥

©) IR T s & ¥
s ohgd SwrEn PR ¢ o9 T
@ IR

(A) ® TAT B ¥

@) @ s &d 2

C FFTMEME

D) T & & 9 T
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61,

62.

63.

64.

15204(N) (R)

In the third phase of law of Variab)

Proportions :

(A) APisncgative

(B) MP is negative

(C) Both APand MP are negaijye

(D) All above are false

Stage of diminishing retums is called -

(A) Stage of diminishing margina)
product

(B) Stage of diminishing average
product

(C) Stage of diminishing marginal and
average products

(D) Stage of diminishing total product
The concept of scale is :

(A) Very short period

(B) Short-run

(C) Long-run

(D) Allof the above three
According to Prof. Baumol the main

cause of application of increasing

returns to scale is :

(A) Divisibility of factors
(B) Dimensional relatives
(C) Division of labour
(D) None of the above

(19)

. Retahe S Prm & drad

mﬂ:
(A) AP T Ben ¥
B) MP oI&® oyan B

(C) AP 3 Mp A woTEm B
®

(D) I af ITaq

. TR oA & e W wER ¥

(A) T2d g I @ omen

B) T e I & sEE

{(C) 72 A 3 3 I @ SR

D) T FF I A e

. &qﬁﬁmt:

(A) FfErEER
B) IEAA

- (© Enwrie

D) IWF &=t @

. R A D Irper YR B v v

S a8 & syw o }
(A) Wt B R

®) RN T
(©) =%-Rvem

O) IF & { B¢
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——————

65 Technical cconomy is an cxample of :

(A) Internal economics
(B) External economics
(C) Both (A) and (B)

(D) None of the above

66. Which is the result of internal and

external economies ?

(A) Increasing retums to scale
(B) Decreasing returns (0 scale
(C) Constant retrunsto scale
(D) Noncofthe above
67. Marginal costs are most closely related
to:
(A) Fixed costs
(B) Variable costs
(C) Total costs
(D) Average costs
68. The opportunity cost of a factor of
production with specific useis :
(A) Veryhigh
(B) Infinite
(C) Zero

(D) Constant

15204(N) (R)

65.

67.

68.

(20)

TR Tva Tz b
R o —
®) W v w

(C) (A)@(B)mﬂ
®) Svdw X ¥ @ 7@

IR St T T @
BT PA-
T B b 2 31|

A ¥ 31 agar st
® ¥ 3 v s
© ¥ ® ReT v
©) 39w ¥ 3 At @
W Rt 3 e e ¥

(A) R ard
®) gRaddie arrt

(C) T A

@) ot At

RRre @ T@ IOE 3 W A
vt A ¥

(A) T AT

B) AN

© I
o) Rt
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69.  Which of the following is not ( shapeg

curve ?

(A) AFC curve
(B) AVCcurve
(C) ATCcurve

(D) MC curve

70. Costs which change with the Changc in

output are called :
(A) Marginal costs
(B) Directcosts
(C) Variable costs

(D) Total costs

71.  Marginal cost curve cuts the average 7.

cost curve :

(A) Attheleft ofits lowest point
(B) Atthe lowest point

(C) Attherightofits lowest point

(D) Atits highest point

72.  Turning point of which curve comes

first?

(A) AVC curve
(B) ATC curve
(C) MC curve
(D) AFC curye

15204(N) (R)

(21)

70.

72.

6. Frefafea 3 ¥ f9-m U -l &

TH AR Y7

(A)

(A) T Prm Ry 3t o
® T P Ry w

© 3 Prw Ry 3 ot o
©) P sEm Ry w

R0 % & T R e o 37
A M e o
® M FW A

(©) dmr arR @

D) Mea Rex arm o
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(o) cannot cover total €0

@®) can coveronly the fixed costs

(C) cannot cover the variable cOStS
(D) None of the above

74. LMCcurve intersects:
(A) SMCcurves
(B) SACcurves
(C) Both(A)and(B)
(D) Neither (A) nor (B)
75. Which of the following is a correct
statement ?
(A) When LAC falls, LMC <LAC
(B) When LAC rise, LMC>LAC
(C) When LAC minimum, LMC =
LAC
(D) All of the above
76. A firm eamns a total reveaue of ¥ 500 by
selling 10 units. Now the firm sells 11
units and earns a total revenue of ¢ 530.
The extra ¥ 30 constitute :

(A) Marginal revenue
(B) Averagerevenue
(C) Total revenue
(D) Net prém

15204(N) (R)

73,

74.

75.

76.

(22)

mmuhﬁ“tﬂﬁ%qﬁ
A) Ta A T8 T B e}
® a7
¥ .
© et vt 3 g 8
v ¥
©) avtw 2 4 @ 7
R L LR R ——
(A) quﬂﬁ

®) sl v o o @

~HO) (A) @ (B) A R

(D) q(A)ﬁah'(qﬁ(B)a

Frsfifrs & & d-w oo v ¥ 7

(A) 3@ LAC frem gom 8, m
LMC<LAC

B) ™ LAC w3 g3 8, aw
LMC>LAC

(C) X LAC qTW % ™
LMC=LAC

(D) SIUF wW

o G 10 T [T TS0 W FW

TR SRk B ¥ o 3w 11

AT € 530 W T W Ai B

 v30 @ SRR afa ¥

(A) dE=T A

@) Awa A™

AC) T A

@) T& ™
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77. The equilibrium of a firm occurg whep -

78.

79.

80.

15204(N) (R)

(A) AR =MR

(B) MC=MR

(C) AR=MC

(D) AC=MC

In the very short period, dominap, role
in price determination is of :

(A) Demand

(B)

©)

(D)

One
perfect competition is :
(A)
(B)

Supply
Both (A) and (B)
None of the above

of the essential conditions of

Product differentiation
Multiplicity of prices for identica]
products at any one time

©)
(D)

Many sellers and few buyers
Only one price for identical goods

at any one time

In a perfectly competition market, the
firm will be :

(A)
(B)
(€)
(D)

A price maker

A price taker

Restricting entry of other firms
Producing a product which will be
different from its competitors

mn.

78.

@ 5 W A aa By ¥ oy

(A) Mwa @ = @ A
B) dr= g = fu Ay
(€) Mwa o = dm=r arE
D) wa | = dor AR

A e A ge-fater & gaw
e ol B

(A) dm B
®) R A

—~©) AW® T[S

9.

80.

(23)

©) S A 9t &

o s B s @t @ { @

wE:

(A) %] fadg

®) R @ T W T ot 3
P ¥ga | 5=

(©) ¥gn & Redan ol 3@ A

O) B & T8 W wE T 3D
e 3w @& 5w

Tﬁﬂmmﬂ,@m

A) @ N Pt

(B) T TW WET R IR

© T®h &t 3 Ry | s
A

0) skt & fer ag] W SR
FA T
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81.

83.

84.

15204(N) (R)

[n the long-Tun 2 perfect competitive
n

firm eams -

(A) Normalprofit
B) Super profit
(C) Loss

D) All of the above

In a perfect competitive market,
demand curve of the firm 18

(A) Pefectly clastc

(B) Perfectly inelastic

(C) Elastic

(D) None of the above

In which market, a firm can not
determine price ?

(A) Perfect competinon

(B) Monopoly

(C) Monopolistic competition

(D) Oligopoly

Under perfect competition in the short
period, a firm can continue its
operations till :

(A) Its TC is recovered

(B) Its AFC is recovered

(C) Its AVCis recovered

(D) Its MC is recovered

81.

82.

83.

84.

(24)

‘d'_

(A) W= a

B) faftas amw
©) w®fx

D) IFw

TF got afedrh aon & o o & s
LL R0

) gfrr e
®B) g Wi

(C) e

©O) IR X ¥ & T8

8 TR & ot qw Proifte T8
ad ¥7

(A) T st

B) THUHT

(C) Ty i

(D) FIRHT

ot wRrdfn & sl JeEd
w4 T I S @ g ¥ TR

A) Ja# TC 7h &h @
®) A AFC g o @
) IR AvC {hah @
0 IeH MC 70 ok @
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85, Under perfect compelition, price i

85. T ofdfver % S Poifa & @

determined by : y .
(A wative firm

) Represcna ) e g
n .
®) Optimunm firm () FPFFR &t g
(€) Industry (C) TEm zm

(D) Most efficient firm

D) waifE Fépm of gm

86. "qwﬁm@mﬁﬁ-ﬁm

86. “The key to the success of a monopoly

is restriction of output.” This js (pe o @ T
statement of :
(A) X. 89 H
(A) Prof. Benham
®) Rq. AT =
(B) Prof. Watson
(C) Prof. Marshall (©) . afw =
(D) Prof. Chamberlin D) RA. AIRE =

87. Thedemand curve of amonopolistis: 87 % TR & S &% -

(A) Parallel to X-axis (A) X-¥¥ 3 FaERT dar ¥

(B) Parallel to Y-axis B) Y- -3 ¥ auERT & )

(C) Slopes downward from left to © WA M B ax o= X

right D) WA T TR B A T I
(D) Rises upward from lefl to ight X
15204(N) (R) (25)
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88. iy wqed A Rafy & .
(A) e o = € ST

g8. Incaseof monopoly equilibrium :

(A) AR=MR
B) AR>MR ®) e e > WA W
(C) AR<MR — (©) 3wm s < @ AW
@) TR=TC D) T A™ = T A
89. Pure monopoly isnot found inreal life 89, FwfRyg TR m T T
and cross elasticity of demand of the mmmﬁﬂ‘ﬁ'{ﬁwm
product is : ¥
(A) Highly elastic (A) % deer B ¥
(B) Highlyinelastic , ®) St ¥ & ¥
(C) Lessinelastic (€) ™ A AR R
(D) Zero ®) gaBRd
90. Ifdemandcurveof the fimisconsistent 90, IR B B Wi 2% G B HT W D
with the demand curve of industry, the e 8, & o &
firm will be :
(a) o skark
(A) Perfect comeptitive
. ®) wwd
(B) Monopolist
(C) Otigopolist (€) FEHY
(D) Duopolist (D) TafEa
15204(N) (R) (26)
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91.

93.

94.

15204(N) (R)

Which is not the necessary condition g,
Price discrimination ?

(A)  Monopoly

(B) Separate market

(C) Fashionable product

(D) Difference in clasticity of demang

- Product differentiation is the IMponap,

feature of :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) None of the above

“Product differentiation is a form of

non-price competition.”

(A) True

(B) False

(C) Doubtful

(D) Uncertain

Under monopolistic competition :

(A) Non-price competition is usually
found

(B) Price competition is usually found

(C) Cutthroat competition is found

(D) No competition is found amongst
the firms

(27)

. T i @ R - o s

THE?

(A) cEited Rafa
B) Y9% I

©) & B T

(D) & e F =

9. IR R @& Teept Rl ¥

(A) HET A

®) of siafrm #

€) cwimd st &
@) I & B T8

93. “Sug-favz g st &

o A

‘_J,(A) L1

(B) HHM
(C) TRES
O) e

94. wHtrErl wfrdifar & -

A) Rgm b s wERa
ahk

®) T s s saia S
}

(€) "o SRRt 8 d
O) it ¥ ¢ ofdfe 8 aR
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95. The concept of imperfect competition

96.

97.

15204(N) (R)

was presented by :

(A) Mrs. Joan Robinson
(B) Chamberlin

(C) Samuelson

(D) Kaldor

To which market, product differentiation
isrelated to :

(A) Perfect competition
(B) Bilateral monopoly
(C) Monopolistic competition

(D) Monopoly

Which of the following is incompatible

with oligopolistic conditions ?
(A) Product differentiation
(B) Competition

(C) Normal profits

(D) Doupoly

9s.

97.

(28)

Wmmawwm=
(A) mmﬂ‘““a‘

®) &= A

© #gee 3
D) HWE A

g e w5 Rrare R A & TP
¥

(A) o sy
B) iy RS
(C) vl sRvafn

(D) THET
Frafeftr & & H=-a1 seafmd gwmett
q A9 T w7

(A) TE Rl
®) Rl
~(C) UM< &M

©) TRHT
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98. Cement industry is an example of.

98. vz Jdrm ITEN B -

(A)  Perfect competition

AW g sfdfar =
(B) Monopoly

. (B) THRER &

(C) Imperfect competition
©) ot s @

(D) Oligopoly ) -

99.  Oligopoly is a form of which marke; 2 9. s e T # o fem 7

(A) Perfect competition

(A) gt ufxarfvn
(B) Imperfect competition ®) “TT" s
(D) Monopolistic competition (D) cHfiyEd sfdfa
100. The term business cycle refersto 100. QY % o | ad B
(A) Fluctuation is aggregate economic (A) 879 3 W TW Aifs RRkE
activity over time | JA-9%1]

(B) Ups and downs in the production (B) ™ ¥ A ¥ JaN-A

of goods

(©) =& Rorrd
(C) Increasing unemployment

O) =@ & it
(D) Declining savings.

15204(N) (R) (29)
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